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FF5 EE ShiEs HIE 10 H RUEALK
1 FLE 31 0%skstokok ok k31 3 A B
2 T U e 31 Qkkstokkkokkk k8§ 39 A A
3 i A 31 0sksksokksokkok k% 8 32 A WA
4 iP5 31 Qs 8 1 ) N1 B
5 7K AN 31 Qskokststtoktsttokkok ()1 7 N1 A
6 ey 31 0ssksksttotooekekkkq 1 | N1 7R
7 Jo 5 W 31 0kpkpokokiork [ 12 N1 A
8 5 [E 31 OskskskskskskskskskskskokG 3 7 N1 A
9 RN 340%skk ARk K8 30 N1 B
10 Mt 37 0xskkttokokokokokk k6 35 N1 7R
11 i A 3] Qokottottoontk8 1 2 Q2 (Hizt) B
12 TEEVE 34 Dskskskskskskskskskokkk99() T WA
13 +5 31 0%kl k219 T W
14 R 31 Oskskskskskskskskkkokok 31 3 Gl R
15 i 31 0%kskkkkk k030 Gl W
16 Rz 350skksksksksieekokokok6 1 6 61 R
17 Fit: B 31 Qstskeskstesketoskotoeskook 5 1 2 Gl AR
18 W=t 31 Qskstokstokstoksdokdok k8 1 1 ¢l 7R
19 Kz 31 0%kskkkkiokikk233 Gl W
20 MR 31 0sksksttokokokokekk k619 R1 7R
21 RS 31 0sksokok ook k442 R1 B
22 eSS 31 Oskkskokkkkok k722 R1 A
23 XD 31 Qkskototsokior k433 R1 7R
24 PERA < 31 Qsksketstesosskokskokekk 3 1 1 R1 A
25 s 320Kk kok k%62 T R1 7R
26 X 41 0%k kAR KT 36 R1 A
27 /R 31 0%k k019 ARL 7R
28 ikt 310k k%319 GIR1 A




